L, Egﬁmsfmmm - dEay yRa &% | 1. Appam, Puttu and Idiyappam - food items,
FETRAR? belong to which State of India ?
il ( ;1 Z"’.’jabt
ujara
(2) TS (2) J
(3) Orissa
(3) aifewm
(4) Kerala
(4) (5 Not Attempted
(5) W AH T umA
2, T frE T N 2. ‘:.’;’)l'uchlg;%r did India attain freedom ?
(1) 1930
2) 1950 ¢l . 1950
(3) 1947 (3) 1947
(4) 1951 ¢ 1851
(5) I TE & = (5) Not Attempted
3 zTTUH;;?]I 1% STIER, G il W X § 3. As per Census 2011, the literacy rate in India
; i
2) 78.0 (1) 73.0
(3) 88.0 (2) 78.0
4) 83.0 (3) 88.0
(5) I AE 1 =R (4) 83.0
X "193? = — (5) Not Attempted
(1) 6371 fw. 4.  What is the radius of the earth ?
(2) 8371 f®H. (1) 6371 km
(3) 9371fFH. (2) 8371 km
@) 2371f%d. (3) 9371 km
(5) I T e (4) 2371 km
' (5)  Not Attempted
5 ‘fafen wra #1 sfe’ 7w & dawm am §2 '
(1) = foa S.  Who is the author of the book - ‘A Hij
(2) it e British India’ ? ° story of
@) (1) James Mill -
_ R (2) Warren Hastings
(4) @EFA (3) Lord Mountbatten
(5) SR Tl T = | (4)  Lord Curzon
. . " T (5)  Not Attempted
6 TEdA WA & YUYW TE-A & ¥ § fFRiy 5
. 0 served f ia’ -
o @ i as free India’s first Governor
(2) HER TAYNE T (1)  C. Rajagopalachari
(3) e e (2) - Sardar.Vallabhbhai Patel
(41 HAATE A6 -:E—F\- : (2] M_aulana Azad
(5) S M A | :5; ‘rja?;::?tar oy : ehr
: i . ‘ empte
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U CE' AT 8 : 7. ‘CE'refersto:
(1) @ 3 e (1) Coastof Egypt
) @ e (20 Common Estimate
(3) @R (3) Common Era
4w (4) Casual Era
@ - (5) Not Attempted
(5) I AE T WwR |
53 : i 8. ‘Mission Indradhanush’; launched in the year
8/ ad 2014 ¥ WiV §U ' sifvam s R 2014 is :
(1) fowmd =it fafvs wn =) smavawasi #t g (1) To provide information, commodities
%gwmﬁ, Tﬂiﬁﬂm S e i and service to meet the diverse need of
adolescents.
2 frafaa T
@) %Wm_mmm (2) To cover children who have been
AT e g2 T A w wfwfea s partially or not vaccinated during
(3) mmﬁmmwm routine immunisation rounds.
JAT0 WER F1 | (3) To provide affordable and quality
T _— healthcare to the rural population.
(#) TF-TI 1 fve wem F) (4) To provide education to the deprived
(5) S FE T EwEA| children.
(5) Not Attempted
9 fava watew feas w@m < @
(1) ST¥A 9. World Environment Day is celebrated on :
2 791 (1) 5% June
h *
@) 5 W (2) 7' June
i e ‘ (3) 5% July
(4) e ) ‘ 4) 7t July
(5) SOl <A AR | (5) Not Attempted

10 el F =i SR ferd v # el € -
=N 10. The earth is surrounded by a layer of gases

() %R called :

(2) EE (1)  Ozone

(3) argHEdA (2) Environment

(4) veEg (3) Atmosphere
(4) Climate

(5) 3 2 9 |

11/ o (MAA) 174 % famga =9 #71 & ?

(5) Not Attempted

(1) ﬁ?lﬂf{ﬂfm (WW STHT) 11. What is the full form of ‘MAA’ programme ?
@ g v (w TR ) (1) Mother’s Absolute Affection
. Y ~ (2) Mother’s Absolute Attention
(3 = Iﬁ ﬁF?TN’ (AT TE w) B (3) Mother And Adolescent
(4) faenfedi & mfes o Hal @ (REg s (4) Menstrual hygiene Among Adolescent
TS i e TeH) girls
(5) IW = 9 A | (5) Not Attempted
VNATH/G1 7% 74 @ fee 7T / SPACE FOR ROUGH WORK Page 3
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‘ ) . 12. ‘Lugda’is a kind of which one of the following
1 g’ Freffiaa & forer o w9 8, Ford e that is worn in Chhattisgarh ?
T 9ET W € 2
! (1) Saree
1y =R (2) Dupatta
(2) 39 (3) Ornament
(3)  SmyEm (4) Footwear
(4) S (5) Not Attempted
(5) SR & =
13. Where is Jamia Islamia University situated ?
13, Snften et feraferers el srafedd €7 (1)  Aligarh
(1) S¥wirTE
(2) Bhopal
(2) v .
i e (3) Delhi
:4)) (4) Lucknow
5 Not Attempted
(5) S TE AR _ )
14, frafafad 3§ @ FH-w Fefwn i g wafe | 14, Which one of th:::l foll‘;w_fing“refers to thet
T A R st T programme introduced in all governmen
A ¥ fm T T elementary schools to provide children with
T IS WA fef e € 2 cooked lunch ?
(1) wieen wHREA (1) Mahila Samakhya
(2) T MISH (2) Mid-day.meal
(3) =& F=al, 43t veish (3) Beti Bachao, Beti Padhao
(4) w4 foen sfimm (4) Sarv Shiksha Abhiyan
(5) 3IW :rﬁ a:n a-rs-a' | (5) Not Attempted
i ] Ty
15 ‘g’ w6 WRA & g T3 | wAma S & 2 15. ‘Bihu’ festival is celebrated in which Indian
(1) FARH State ?
(2) HE (1) Karnataka
(3) IWWEH (2)  Punjab
(4) 319 (3} Uttar Pradesh
(5) I TE & AwA B Hawasm
(5) Not Attempted
16 afc foret =afem 1 g H™ FT0 98 3, @ 30F
T 1 FH 99 g1 et fFa ST €, 919 | 16, If a person’s kidney stops working. They
Sifad T8 ® g%ar1 98 YR et © cannot survive unless their blood is filtered
) by artificial kidney. This process is called :
(1) Excretion
2) erafates
@ : (2) Dialysis
(3) WEEA _—
(3) Transpiration
(4) e i (4) Elimination
(5) I < A | (5) Not Attempted
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17, frefafaa ﬁ'@lﬂ'—l—ﬂ‘lwmﬁ'ﬂmqﬁﬁ? 17. Which of the following is not a terrestrial
(1) e habitat ?
(2) HEHHA (1) Pond
(3) wuiEd (2) Desert
@) uH % iem (3) Rainforest
(5) SOAE 1 | | (4) Grassland
(5) Not Attempted
18, TN F TH.ITE. T |2
(1) 7™ 18. The SI unit of mass is :
(2) foreim (1) gram
@) TUREE (2) kilogram
@) 3w (3 pound
(4) ounce
5) JW ed
) Rl ; (5) Not Attempted
i =, gﬁﬁﬁﬂlﬂ F:. 3 o 19. A boy is standi t a dist f 50 fi
’ . Vis s Ing at a distance o cm irom
&1 T ol F @ &t ? the plane mirror. What will be the distance
(1) 100 Hretex between the mirror and the image ?
(2) 25 HI= (1) 100cm
(3) 50 HImr (2) 25cm
(4) 75 "I (3) S0cm
(5) I S ERAI (4) 75cm
(5) Not Attempted
20 1 wiswa # Fon F dAww g e
HIEAH i EYIHdT T2l et €1 20. No medium is required for transfer of heat by
(1) fafs the process of
(1) Radiation
(2) S i
J (2) Conduction
(3) : (3) Convection
(4)  aToESH o
(4) Transpiration
(5) WA < e | (5) Not Attempted
At
21, agn el A B 3t 21. and are water borne
gl diseases.
(1) 2ESEE iR Af=fea (1) Typhoid and Meningitis
(2) aG-a0 siwafaw (2) Beri-Beri and Dysentery
(3) wwal s E (3) Scurvy and Cholera
(4) e oir fanes (4) Polio and Rickets
(5) S AE = =med | (5) Not Attempted
VNATH/G1 I BT & 110 74T / SPACE FOR ROUGH WORK Page 5
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1
23~ Frefefaa # gafea =3 22. Match the following :
M (m M (m
(A) T () FESREN (A) Lamina () Weak stem
B) wgS (1) sizwm (B) Petal (1) Ovary
(C) wHFm () T (C) Pistil (Il) Leaf
(D) faudt o (V) Tm (D) Creeper (IV) Flower
(1) (A)-(m), (B)-av), (C)-(11), (D)-(1) (1) (A, B)-(Iv), (-, D)-0)
(2)  (A)-(1), (B)-(11), (C)-(1), (D)-(IV) (2)  (A)-(I), (B)-(1), (C)-(1), (D)-(IV)
(3)  (A)-(IV), (B)-(11), (C)-(I11), (D)-(1) (3)  (A)-(IV), (B)-(II), (C)-(11), (D)-(T)
(4)  (A)-(1D), (B)-(111), (C)-(IV), (D)-(1) @) (A)-{1), (B)-(111), (C)-(1V), (D)-(1)
(5) SR TR <A A | (5) Not Attempted
23, ! HH F FRU G- SHE @t §1 | 23, Deficiency of causes beri-beri
(1) faafma disease.
m s (1) Vitamfn A
(2) Vitamin Bl
i (3) Vitamin C
(4) feafFD (4) Vitamin D |
(5) I T A A | (5) Not Attempted
24, frefafaa # & o 6@ 7ol R R TEE? | 04 Which of the following is not the characteristi
(1) e (fe) @i sufeafa of fish ?
2) firer 71 Sufeafa (1)  Presence of fins
3) et ﬂz = @ ST AT I (2) Presence of gills ' - |
- R ¥ A R e # fax &k ‘i? - (3) Long backboT:e with cylindrical @Y
R (4) Head and tail smaller than the middle
SRR e e 2 portion of the body.
(5) SWAG e | (5) Not Attempted
25, FerEfeq ‘A’ FHR HF g 25. Hepatitis ‘A’ is caused by :
(1) & (1) Bacteria
(2) feamg (2) Virus
(3) FEH (3) Fungi
) P IEIE (4) Protozoa
(5) IR & e | (5] Not Attempted . |
PPy 3G @ 10 2T | SPACE FOR ROUGH WORK Page®
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26, YFHMIT _____ Awmen ¥
(1) FwE
2) varAfaE
(3) TEES
4) ==
(5) S TEI & = |

27,

28~

freafafas o | frasd 39 9 49 =1 vdm fem
Aae?

(1) SR

2) e

(3) FThied

(4) TR T
(5) SR < A9

T4 2016 ¥ YA G A e e
sy foan ® foas sr=ia sfaa arfed w1 fuem

& foran T 71

(1) =

(2) zeH

(3) W= W@

(@) g T

(5) SO AE A =@ |

27.

28.

Earthworms breathe through their

(1) Lungs

(2) Tracheae

(3) Gills

(4) Skin

(5) Not Attempted

Yeast is used in the production of :

(1) Sugar

(2) Oxygen

(3) Alcohol

(4) Hydrochloric Acid
(5) Not Attempted

In the year 2016, the Government of India has
initiated a mission called under
which a proper Sewage disposal have been
started.

(1) Ujjwala

(2) Udaan

(3) Swachh Bharat
(4) Namami Gange
(5) Not Attempted

Match electrical component given in

Column - I with the symbol given in
R ; . ; Column - II :
o - e -1 H
a9 g 1= Hjﬁ; Wflﬁﬁ'ga?ﬁ : HEN- M H T Colun:-m -1 Column - II
-1 -1 (A) Electric cell () —
: I
@) T A U I ——— - _@_
B) ‘& feufa § fam (1) _@ position
- lectri
©) forege 7w () (D) E ectric Bulb () ———
() & el ™) _{ % ff,‘l]looseat::r:(orrect tion : e
'Hﬁ qﬁi{ ; option !
(2)  (A)-(u), (B)-(1), (C)-(), (D)-(1V) (2) (A)-(ID, (B)-(1), (C)-{i1}, (D)-(1V)
(3)  (A)-(IV), (B)-(1), (C)-(11), (D)-(111) (3)  (A)-(IV), (B)-(I), (C)-(1T), (D)-(I1T)
(4)  (A)-(IV), (B)-(11I), (C)-(IT), (D)-(I) 4 (A)-(IV), (B)-(I11), (C)-(11), (D)-(I)
(5) IO & =ed | (5) Not Attempted
VNATH/G1 % @1 o feTe 22 / SPACE FOR ROUGH WORK Page 7
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30, gl H € U o Feer & faed wigst w)
TeH T TR AT I 7
(1)  =erwm
(2)  wfafeman e
B) T
(4)  FgtEm
(5) I TE T =R

ﬁﬁA,B,c,Dmeﬁmﬂzmm
R T ¥, A st 9 s e A A
C, EF T iR A, Fad AR A D
EERRCEC § IR b e pr e

(1) E
2 C
(3 B
@) A
(5)

e {ISH Sverl % we @ sreratya w9 § e T
B Hensil & 39 W w1 wu Ft W SEn
Herll =1 Hafey F W U eyl yreg A |

C P K T 0 E
1 2 3 4 5 6

(1) 3,5,1,4,2,6
2 2,1,5,3,6,4
3) 2,5,1,3,6,4
4 4,1,5,2,3,6

(5) I TE T AR

33,/ WM Q, RFPFEH WEE, @ Q, RAfFm

30.

31.

32.

The property of metals by which they can be .':
beaten into thin sheets is called :

(1) Conductivity
(2) Reactivity

(3) Ductility

(4) ' Malleability
{.5] Not Attempted

Five children A, B, C, D and E are standing in
a row, facing North but not necessarily in the
same order. ‘C’is to the right of ‘E’ and to the
left of ‘A’. ‘A’ and ‘D’ have one child between
them. Who is in the middle of the row ?

(1) E
2 C
3 B
4 A
(5) Not Attempted

A set of English letters is given below in a
jumbled order. Select the combination of
numbers so that the letters arranged
accordingly will form a meaningful word.

C P K T O E
1 2 3 4 S 6

(1) 3,5,1,4,2,6
2) 2,1,53,6,4
3) 2,51,3,6,4
4 4,1,5,2,3,6
(S)  Not Attempted

S 33. %"Cr);li:t::lo::g‘%f son of R’s son, then how is
(1) T (1) Son
(2) =T=/AH (2) Uncle
(3) 9= (3) Grandson
(4) == /T (4) Cousin
(5) S e & Awed | (5)  Not Attempted
VNATH/G1 % @1l & feTe 2aret / SPACE FOR ROUGH WORK Page 8
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34, -afc faslt ad | 25 37T@ T wAR €, A I wEA § | 34.  1f 25" of August in a year is Thursday, then
Era TEET B 2 how many Tuesdays will be there in that
‘ month ?
(1) 3
(1 3
2 S
@ 4 “ 2
4 6 B 4
(5) SR & AR | 4 6
! (5) ' Not Attempted
35, 2 FuA 3R 30F A 3 Frepd 1 3t fw e §) e
% Eﬁ . gll.in%’ﬁ QT W e | 35. Two statements are given, followed by two
fim & =91 7 wda 29 @, fofa =t HHA-T1/A conclusions I and Il. Assuming the
frerd feu T et ¥ suR W adE T w9 Y freea statements to be true even if they seem to be
/e €2 at variance from the commonly known facts,
; decide which of the conclusions logically
HgT: follow/follows from the given statements.
Tt St 5% -l Statements :
FO ?51 AT £ All animals are dogs.
e Some dogs are dangerous.
L W S A E LRI
T W_‘iﬁ % ) & All animals are dangerous.
M Bruds 1 £ & 1 9 Some dogs are animals.
(1) Only Conclusion I follows.
2) Faa frerd 1 frrem 7 5 T
) ( nly Conclusion II follows.
(3) freRd 1 3R 11 <M farera €1
(3) Both Conclusions I and II follow.
@) A frerd 1 3 A € 1 fream € _
i N (4) Neither Conclusion I nor II follows.
45 [ |
) ke (5) Not Attempted
36, form yan fereirdier =1 Hew g 4 €, 3t warm A
g e &2 36. Kilometer is related to Distance in the same
’ way as Newton is related to :
(1) T@H (1)  Acceleration
3 Yoy (2) Density
(3 =a@H (3) Force
(4) wamH (4) Momentum
(5) 3SW e & = | (5) Not Attempted
VNATH/ G1 % B & fo10 Trme / SPACE FOR ROUGH WORK
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37/ T T @ F ST G2 T FAC : 37. Find the next term of the series :
11, 12, 16, 25,41, _ ? 11,12, 16,25,41, _2 _
(1) 65 (1) 65
2
% 2 66
(3) 69
4 72 B @
4
(5) IR & o
(5) Not Attempted
38, fawn =1 =7 wifww .
) 38. Find the odd one out :
1 Ginger
(2) TR W '
(2) Carrot
3
G ] (3) Potato
) (4) Tomato
(5) TR < WA | (5) Not Attempted

3?/' afe o fAfvea FedM H ‘COVET ® FRYHW’ 39. If in a certain code, ‘COVET’ is written as

foran <iman &, @ 36 w1 § HIDE’ # @1 fo@n ‘FRYHW’ then how will ‘HIDE’ be written in the
T ? same language ?

(1) KLEF (1) KLEF

(2) KLGH (2) KLGH

(3) KLEI (3) KLEI

(4) KGEF (4) KGEF

(5) I TE A | (5) Not Attempted

40, TF AR TN feen # 4 3‘_53" gz ¥ aw ?ﬂﬂ'{iﬁf 40. A man is facing North direction. He turns
faen & 135° 42 91 €, 39 9 Sferomad fewm o 135° in anticlock-wise direction, and then 90°

90° TZ Al 1 o7a 399 qe fra fam o &2 in the clock-wise direction. Which direction
L is he facing now ?

) wp (1)  North-East

@ = (2) North

() Iw-E (3) North-West

(4) i (4)  West

(5) I TE & e | (5) Not Attempted

Scanned with CamScanner



a)” 17 7 #1720 ¥ A= :
W, 5 3 % %4 g % | 41. On selling 17 balls for T 720, there is a loss

T Bl :
TN AR HFHFIA R : equal to the cost price of 5 balls. The cost
price of one ball is :

(1) T 45

(20 TS50 1) 745

(3) IS5 @ 50

2 B (3) 55
(4) 60

(5) SR TE I = wa |
(5) Not Attempted

43, R 45—[28—{37 — (15— x))| =58 ¥, M x F1 7
42. 1f45—[28— {37 —(15—x)}]]=58, then the value

%:
(1) —29 of xis:
@ =19 (1} =29
3) 19 3 =19
(4) 29 3 19
4 9
(5) SO & = | 4 2
(5) Not Attempted
43"” il . 1 292,500 qgr ¥ 35,000 A I.EIE'{, 43. A and B started a business by investing
T AT T feran1 T 27,600 #g&ramﬁ B &1 7 22,500 and ¥ 35,000 respectively. Out of a
g e : total profit of X 27,600, B’s shareis:
(1) ¥10,800 (1) ¥10,800
2 X 14,400 2 X 14,400
3 = 16,800 3 ¥ 16,800
4 X 19,200 @ X 19,200
3 d
(5) IW =& &1 =red | (5) NotAttempte
2 2 x 1 &l f 2 + y2 .
+ % i the value O is :
44. ﬂﬁ£=l%,m%_i_§5ﬁqmm: 44. Ify en Y
y 3 x* -y
=1 ) =19
9
1 9
5 ) 5
. 4
@ 3
5 = 2
== @G 2
B 3
=2
@ 3

@ 3
I TR 1 =Ted | (5) Not Attempted
- page 11
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45/ 3-3iaTa wad 7€ wen ol 4- st wad wgl wen

F fafom et arch gaw w2 g #
(1) 3
2 7
3) 8
4 o9
(5) W TE T =R

46, a‘m‘maj‘mﬂcp 28 ¥ 3l 3T LCM 336 21
afe OF HEmn 112%,??[@#@11%:
(1) 34
2) 64
(3) 84
4) 92
(5) W T ==

47, U s 1 e 39 9 9 5 dnies afus 3
A 9e W aw T dewa 792 o ddnde &
T S (99 FEAdeT F) B

| (1) 5712

(2) 5244
(3) 5544
(4) 5306
(5) IWTE M AwA

48, UF T 550 Wi i gt 1 firre § w7 o & wafw

TFag 33 R Fghes R im e o=

45.

47.

48.

The greatest number which divides the !
greatest 3-digit number and the greatest t

4-digit number, exactly is :

(1) 3
2 7
3) 8
@ o
(5)  Not Attempted

The HCF of two numbers is 28 and their LCM

is 336. If one number is 112, then the other
number is :

(1) 34
2 64
(3) 84
(4) 92
(5) Not Attempted

The radius of a cylinder is 5 cm more than its
height. If the curved surface area of the

cylinder is 792 cm?, then the volume of
cylinder (in cm3) is ;

(1) 5712
(2) 5244
(3) 5544
(4) 5306
(5)  Not Attempted

A truck covers a distance of 550 metres in

1 minute whereas a bus covers a distance of

T B & 10 TTet / SPACE FOR ROUGH WORK

1 i 1 T R S 33 kms in 45 minutes, The ratio of the speed
of the truck to the speed of the bus is :
(1) 3:4 (1) 3:4
(2) 4:3 2 4:3
(3 3:5 3) 3:5
(4) 5:3 4 5:3
(5) R TE & AR | (5)  Not Attempted
VNATH/G1
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4yﬂﬁ@n€2:3%mﬁ%|qﬁmﬁn125ﬂ, 49. Two numbers are in the ratio 2 : 3. If their

@1 9 "EAnd gt sum is 125, then the numbers are :
(1) 20,30 LU

2 32,78 2) 32,78

(3) 50,75 (3) 50,75

(4) 24,36 (4) 24,36

(5) SO AE A = |

(5) Not Attempted

25 X '
50/111'?2 1+ == =1+ — & A xF A= 50. If [; + 25 _ 14+ X, then thevalue of xis:
L% 12 144

12
(1)
1
2) S :2: .
3) 13
@ 17 (3 13
(5) SWAGTNERI .

(5) Not Attempted

51 WK - | & 91ad 1 44 ¥ 15 W freium € swafs A : ; s
TFE - 11 F TG S . e cost of type - I rice is ¥ 15 per kg and o
= I]:ﬁ .,WTI‘@?_Z_O“% &1 afe type - II rice is ¥ 20 per kg. If rice of both
A YR & |l ) 2 : 3 H e @ a, § fagm

types are mixed in the ratio 2 : 3, then the
EaRIGRETRIDIL T T cost price per kg of the mixed variety of rice
(1) 18 3
2) 219 (1) T18
(3) 21850 2) Z19
(4) T19.50 (3) T18.50
(5) W T S =R | (4) %19.50

(5) Not Attempted
52,/ AT HHA H A, B | 20% %9 &1 F@ €1 afg A
fFfiFd F: 7L R AR gsa e, 3@ @ | 52,

A does 20% less work than B in the same

%1 fFa w93 o g0 F2 qmom ? time. If A can complete a piece of work in
. 7%2 hours, then B can do it in :
(1) 5‘512‘ (1) 5hours
@  S5%Ee (2) 5% hours
@) 6 RE (3) 6 hours
(@) 6% (4) 6% hours
(5) TG <A AR | (5) Not Attempted
VNATH/G1 % @7 & fT0 F21me / SPACE FOR ROUGH WORK Page 13

Scanned with CamScanner



53, fz faedt saa ¥ farapoi &t e e &wa waw: | 53.  If the length of the diagonal ang the area of
rectangle are 25 m and 168 m* respecti
;5 witer w168 a1 et €, @ amad qst then the longer side of the rectangle is :
(1) 12m |
(1) 12 |
2) 17m |
() 17
B) 24m
(3) 24,
4 31m
(4) 314
(5)  Not Attempted
(5) 3T T =wd |
: 54. At what rate of simple interest will a sum
59 HHRY =9 FY g ) | 0 Tl 12 6l e money doubles itself in 12 years ? r
y
T 8 St &2
1
8—%
a1 8ly sl
4
1
@ 8% Sl &
3
3) 8 : % (3) 8'1_%
(3) 2 2
(4) olg (4) 9%
2 2
(5) W FE & =R | (5)  Not Attempteq
55 3T UF Tl § Theq H U e wited ¥ Wiy | 55
> A - Arun buys a paj
20% 'qg[ fqa e %| qﬁ:g{:ﬁ 1,600 ﬁ"!?ﬁ = ﬂ' the discount g?\?:l-'l (l): ;Egjesl?:hae sal?)l::llze;
N : ) > : . 0. am
q FA-H U0 30 Sy F um TS 1 sifa ey E_?Y 8153 1,600, then which of the following
22 € marked price of the pair of skates ?
(1) 71,280 (1) %1,280
(2) ¥1,600 (2) T1,600
(3) 1,920 (3) 1,920
®  ¥2,000 (4) 22,000
5) IWAE |
VNATI:: G1 — o 3 fre ek
TG .
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56~ Choose the correctly spelt word.

(1) humorus

(2) humorous

(3) humoros

(4) humarous

(5) Not Attempted

57, Choose the alternative which best expresses

the given sentence in Passive Voice.

The accountant took the cheque from the

customer.

(1) The cheque is taken from the customer
by the accountant.

(2) The cheque was taken from the
customer by the accountant.

(3) The customer was taken the cheque by

the accountant.

The cheque had been taken from the

customer by the accountant.

Not Attempted

(4)

()

58, In the following question, the first and the last

part of the sentence are numbered S; & Sg.
The rest of the sentence is split into four parts
and named P, Q, Rand S. These four parts are
jumbled. Re-arrange them in correct order.
S, - Even today in many countries

P - neglected and there are far

Q - women continue to be

R - who have had the benefit of

S - fewer women than men

Sg - education and vocation training

() PQRS
(2) QPSR
3) RQPS
4) ~-SQRP
(5) Not Attempted

59.  Change the following sentence into indirect

speech.

Shakti said to his friend, “Look out! There is

a snake behind you”.

(1) Shakti told his friend to look out as
there is a snake behind him.

69

2

6%

Pick out the part of the sentence which has an
error. If there is no error, your answer is (4).

This is the third communication | have sent /

(A)
and I am much surprised /
(B)
at receiving no answer ,
(€
(1) (A
2 B
B (©
(4) No error
(5) Not Attempted .

Fill in the blank with suitable alternative.
You will not overtake him unless you

(1) sleep

(2) walk quickly
(3) play

(4) reading

(5) Not Attempted

Choose the alternative which best expresses
the meaning of the underlined idiom.
They sold their old house because it was

a white elephant ,

(1) very large

(2) useless

(3) very comfortable
(4) collapsing

(5) Not Attempted
Find out the antonym of ‘frequent’.
(1) rare

(2) return

(3) fear

(4) alarm

(5) Not Attempted

Find out the synonym of the underlined word
in the following sentence.

(2) Shakti exclaimed to his friend with To travel hopefully is a better thing than to

lsju;priisc; itiat there could be a snake arrive, and the true success is to labour.
ehin . .

(3] Seeing a snake behind him, Shakti iél faﬂﬁfaﬁy
asked his friend to look out. (2) POSII.WE y

(4) Shakti warned his friend that there was (3) neg 1genlce
a snake behind him. (4) carelessly "

(5) Not Attempted (5) Not Attempte:

VNATH/ G1 3% B & feT0 T=2mer / SPACE FOR ROUGH WORK Page 15
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66, HIA-HI T HaY FRF 1 I & ?

68« ‘a1’ Wegd A @ I A e T € -

69 el #1 A 2@ 9T T ' AR SAFR F

Choose the correct alternative to improve the
underlined part of the following sentence. If no
improvement is required, your answer is (4),

Passengers are requested not to sit on the floor,

(1) to not sit

(2) to not to sit

(3) requested to sit
(4) No Improvement
(5) Not Attempted

(1) A0 W 9= 7d =i T
(2) A SR T A =i

(3) fedi i wsH!

(4) WY TI WA T

(5) I E < =" |

67~ 'TH AWM H 374 Wa YHI' A & {@ifchd W= H

Haifus I9gaa TaFarH s © -

(1) =nfesm

(2) e

3 =

(4) IEf

(5) I TE A AEd |

(1) T

(2) wah

(3 &F®

(4) TTEER

(5) ZW &l &1 = Ted |

Ffz 4 TR T :

(1) U] HAAFH H

(2) HTHIE SEAHH
3) WWW

(4) HHAATHTO AR HI
(5) SO €l &1 9wed |

79, fau mu forg faehed # A 1 Y% ®9 76 £
(1) wepfa iR Sfaa i 97 Fay &)
(2) TYE WAH R@ I
(3) FAHRAHAAREI
(@) el & g @

(5) IR TE A = |
71, for ware 4 veen 98 WA 9, I FEq € -
(1) ¥
(2) gHlE
3 f&u
(4) 3=FEE
(5) IuTE <A Aed |
7g/ﬁqwﬁmﬁmﬁﬂﬁ5ﬁﬂzm%?
(1) gfew
(2) S=Ed
3 T
(4) UE
(5) IO T & ed |
73~ 7@ I e % = W qen’ & oy waifd 39gw
el
(1) Tiyfa
(2) =R
(3) e
(4) ™
(5) WS < =Ed |
74, ‘T3’ & 9§ T A waitus ST =
%
(1) f:3mm
(2) Taemem
(3) fmm
(4) fremm
(5) SWAE T =EA |

75, ';ﬁ*fmﬁmtﬁm'ama‘tmnaifwwwa"

(1)  Afefus s=fa wa@m)
(2) 7HYE w1 F GYg w6
(3) FH T Y 33

(4) ofes 91 @ ey e

(5) SR & 1 w=req

VNATH /G1

¥ BT % 10 7411 / SPACE FOR RO
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i

11/

7g,/aﬁa:mﬂﬂ%ﬁmw§3ﬁémm

<feqron & ferera foret €2
(1) 21
(2) 22
(3) 23
(4) 24
(5) I TR <A TR |

T T E (T TE ) F Heiw § e §

f FA-F FYT T R ?

(A) T TH S B TSI e el 3
@) T ST R e 3 fromia ¥
TR AW -/ @ T @ Y

(1) &= (A)

(2) <ed (B)

(@) ()3 (B) T

@ Ta@(A) 3RAE (B)

(5) SO T < e |

Ffamon § g € ?

(1)

2 fem=r

(3) AR

(4) wEd

(5) SR AE & e |

79 Wmﬁmﬁmmqﬁﬂwm

76.

7.

78.

79.

How many districts are there in Haryana ?:

(1) 21
(2) 22
(3) 23
4) 24
(5) Not Attempted

Consider the following statements in respect
of National Security Guards (NSG) :

(A) Operational Headquarter of NSG is in
Manesar.

NSG comes under the control of Union
Ministry of Home Affairs.

Which of the above statements is/are
correct ?

(B)

(1)  (A)only

(2) (B)only

(3) Both (A)and (B)

(4) Neither (A) nor (B)
(5) Not Attempted

In which month of the year, the famous
Surajkund mela is held every year in
Haryana ?

(1) March

(2) December

(3) October

(4) February

(5) Not Attempted

In the Mahabharata period, which term was
used for Haryana ?

(1) Haribanak

(2) Bahudhanyakya
(3) Hariyala

(4) Haryanak

(5) Not Attempted

>

™ ®?

(1) efEs

(2) =EYEH

(3) ®RE

(4) S

(5) e & = |
WG

@ % fere </ SPACE FOR ROUGH WORK
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T TR TR TN W i a2t S A W N T e Rl M3

) 80. To promote the ancient Heritage of Pinj )
80, fosin %t wreit faoa =1 ag@ a 3 ferg st s twopfl:stivals are held every year. One i!g‘
et 7Ty S &, U e d fis e HeTeHd Pinjore Heritage festival’; which is the seconq
¥, 790 wdga FR-| R 2 one ?
(1) HauweeEa (1) Orange festival
(2) wqﬂa:ﬁ (2) Dates festival
(3) % wEra (3) Mango festival
(@) g wérwa (4) Lemon festival
(5) I AE T = (5) Not Attempted
frefafaa 8§ @ 21 i 79 F1 v, &9 3ik | 81, Who among the following is the Minister of
By vl 62 Environment, Forests and Wildlife of Haryana
* State ?
(1) o sFE faw (1) Shree Anil Vij
(2) ot R T (2) Shree Kanwar Pal
(3) A g =T v (3) Shree Mool Chand Sharma
(4) 5 = e (4) Shree Dushyant Chautala
(5) IWAE W EEAN (5) Not Attempted
83, W& HAll wifavite T 4 gr fet 4fordi 31 | 82.  Mukhya Mantri Pragatisheel Samman Yojana
-5 | F9 FE w0 &q wifaeie fear =1 sffa is to motivate the progressive farmers for
fore A & 2 adopting best agriculture practices in how
> many categories of land holding ?
¥
@G 4 @
) 5 o5
(5) I T & W M 2
(5) Not Attempted
83, frafafaa # d ¥R waw efmmmw T gu §?
(1) TRFGH 83. Which amongst the following is the State Tree
of Haryana ?
(PI CEEE [ (1) Banyan Tree
(3) FAMFIY (2) Sacred Fig
(4) wEFgH (3) Mango Tree
(5) WAL SN AEEA | (4) Sal Tree
(5) Not Attempted
VNATH/G1
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4
g (A) Teas | qferm ATy e % 84. Consider the following statements :
(B) ara o e RlRES fem g, (A) 2;];?:; :;13: ea Police Commissionerate
sHRAATR-A/d T w@ 7L % (B) Sonipat has a Police Commissionerate
(1) 3 (A) located there.
) Fad (B) Which of the above statements is/are
correct ?
(3) (A) 3 (B) iﬁf (1) (@A only
@ AN MI§ @) ) (B)only
(5) I TE T Em (3)  Both (A)and (B)
(4)  Neither (A) nor (B)
85/ fag ad 2022-23 ¥ ferg, T TS (5)  Not Attempted
Fera i =7 1 R e stfen fovan v 2 85. For the financial year 2022-23, what is the
(1) 14.2% percentage of the total expenditure allocated
(2) 6.2% towards Health in the Haryana State ?
3 85% (1) 14.2%
4 S58% 2 6.2%
(5) W T M = 3) 85%
(4) 5.8%
86, frafafas 0@ w faun o ; (5) Not Attempted
(A)  HFE R TR A dm et F e o
2 86. Consider the following statements :
B) iaw 7 v fosh T T (A) gc:;[]:at and Jhajjar share border with
IR A A F-/ A T 8 (B) Rohtak does not share border with Delhi.
(1) W(A) Which of the above statements is/are
@ ¥ @) ::““::;’ :
only
(3) () 3R (B) I 2 (B only
(4) A (A) A (B) (3) Both (A)and (B)
(5) S TE A" (4)  Neither (A) nor (B)
(S) Not Attempted
87, i fm T & sala €2
(1) T9=m 87. Neemrana comes under which State ?
(2) e (1) Rajasthan
) (2) Haryana
8) S (3) Punjab
4) WG (4) Uttarakhand
(5) IO A& & 9ed | (5) Not Attempted
VNATH/ G1 7% @14 & 10 @ / SPACE FOR ROUGH WORK Page 19

Scanned with CamScanner



-
|

How many Rajya Sabha seats does Haryu‘_‘j

88/ eftaron o # T T it fe He E 8s.
(1) 8 have ? §
2 7 (ny 8
3) 6 2 7
4 5 (3) 6
(5) SO @ 1 AwEd | 4 S
(5) Not Attempted
o s ; 89. Consider the followi tatements :
: . Consider the following state :
() e e egra spen A (A] Nada Sahib Gurudwara is situated in
(B) eI Wifea g FOR T4 & W W Ambala.
ST | § F-Tyd w9 /2 (B) Nada Sahib Gurudwara is situated on
(1) *ad (A) the bank of river Ghaggar.
Which of the above statements is/are
(2 Fa€(B) correct ? ﬁ
(3) (A) 3 (B) FH (1) (A)only
@ A (A) dRTE(B) @) (B)only #
(5) IR TE AR (3) Both (A)and (B)
(4) Neither (A) nor (B)
9q. faa ford § wreda g T farvafaraerd ferd &2 (5) NotAttempted
(1) ¥ 90. In which district is the Indian National
(2 TEH Defence University located ?
(3) ITER (1) Panchkula
(4 FEA (2) Gurugram
i (3) Faridabad
IW
(5) i & =ed | Q) Eassal
o1, <y it wify it wifs O o * frg (5) Not Attempted
o #e? 91. Indira Gandhi Super Thermal Power Project
(1) &= is situated in which district of Haryana T
(2) faw (1) Jhajjar
@) fem (2) Sirsa
. (3) Hisar
@ = (4) Jind
(5) I AL A W | (5) Not Attempted
92, it <hertt foFw G ¥ ferg wes €? 92. Garima Chaudhary is well known for which
n @ e
w (1) Judo
@ ! (2) Kabaddi
@ 3 : (3) Wrestling
(4) RS (4) Archery
(5) IWE T EEd | (5) Not Attempted
VNATH/ G1 = 79 % fer0 za1/ SPACE FOR ROUGH WORK Page 20



(5) O AR AR |

96, TS HEMIA' & Tt F €2
(1) ™M
(2) wIfae™
(3) wefi afs
(4) T aga™
(5) IR AH & =

93-

95.

Who amongst the following did not play for

Haryana in Ranji Trophy ?
(1)  Maninder Singh
{2) Kapil Dev

(3) Rajinder Goel
(4) Sarkar Talwar
(5)  Not Attempted

In which district is Narnaul situated ?
(1) Jind

(2) Kaithal
(3) Mahendragarh
(4) Rohtak

(S) Not Attempted

Which of the following dance forms of Haryana
is associated with Mewati tribe ?

(1) Dhamal
(2 Ratvai
(3) Phag
(4) Gugga

(5) Not Attempted

Who was the author of epic ‘Mahabharata’?
(1) Magh

(2) Kaldas

(3) Maharishi Valmiki

(4) Maharishi Vedvyasa

(5) Not Attempted

o7, frfen 4 it e 5 A | 9. Wi et B ann
ﬁﬁﬁﬁ@qﬁ%? (1) Sirsa
! - o (2) Sonipat
(2) EHT i ol
M W (4) Rewari
4 "(EI@ (5) Not Attempted
(5) It &N =

VNATH / G1
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RS AR NV ] W BN R | P————

98¢ TFA T+ We] IR (i v 2t i) am H FrAferfaa
w1 fa=m wifs

(A) TEmME S wA AR FN @GR

aAfus ®)

(B) U= & Wit wW € ot g F St @ S Wi q
3 B

ST A A FA-F/A FoA @ /%2

(1) %=« (A)

(2) =€l (B)

(3)  (A) 3R (B) I

@) A (A) IRAE (B)

(5) I FE T =R

99 ‘3’ @iy wfamn § e T w2

(1) =T

(2) afean

(3) =T

(4) W

(5) m‘—m’famarsm

100, &fEmm & AfeensHi gr1 qerelt T YRR & o wm

Q&1 11 € 2
(1) A
(2) =
3 W
(4 =

(5) I E o =HRd |

-00o0- ]

98.

99,

100.

—

Consider the following statements about Grog,
State Domestic Product (GSDP) :

(A) GSDP of Haryana is more than that of
Bihar.

(B) GSDP of Punjab is more than that of
Haryana.

Which of the above statements is/are
correct ?

(1) (A)only

(2) (B)only

(3) Both (A)and (B)
(4) Neither (A) nor (B)
(5) Not Attempted

‘Ottu’ barrage is on which river in Haryana ?
(1) Yamuna

(2) Sahiba
(3) Tangri
(4) Ghaggar

(5) Not Attempted

Boojali, an ornament is worn in which part of
the body by women in Haryana ?

(1) Ears

(2) * Forehead
(3) Foot

(4) Nose

(5)  Not Attempted

-00o0-
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